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[n the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Teafafya vy & fgr ww Rpedr 7 T uyn Bg
(?) & TAE GT I AT FEAT F T

4 5 5 5 6 | 7
4 | 24 6 | 31 3|7
Options:
1) 47
2) 45
3)41
4)43

Correct Answer: 45
Candidate Answer: 45

QID: 102 -
How many triangles are there in the given figure?

& 75 Ipla H fehae TRge €7

Options:
1)4

2)5
3)6

4)7
Correct Answer: 5
Candidate Answer: 6
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QID: 103 -
A word is represented by only one sel of numbers as given in any one of
the alternatives. The sets of numbers given in the alternalives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘J’ can
be represented by 42, 87, elc., and ‘N’ can be represented by 04, 89, etc.
Similarly, you have lo identify the set for the word “KITE”.

UF QRG A U TEAT-O9E qRl guRm 9T ¥, Jar 5 Reedt # @
fordt v o o mn ¥ faweut # Bu o dwarweg dew & qr aeit
arT gaiiw aw ¥, S fr Bu ww §) smeye 7 {1 anresl & wew sk
ufs 1 dear 0 @ 4 ¥ 3k ameEn A 5 @ 91 5T g d U MW
@ Uee 3EH uf 3R dig A TAEH G G o ST @dar
3GRIOT & o 0w 42, 87 afe G G ST AT & @A N @ 04,
89, 3% TRT gRiRm S AT ¥ S T @ I wA A e g
“KITE” & T @efp o ugdiear ¢

Matrix- Matrix-Il

-l SRl
oj1|2[3]4 5|6|7|8]|9
O|B|E|T|A|N S5ID|GIW|I|R
1IK|IM[I]C|S 6|Y| M|B|T|S
2|UIE|Q|V (X 7|L|P|Z|Y|D
JID|GIW|L|R S|F|E|J|T|N
4|K|B|J|C|S glujtrjQlv| X

Options:

1) 10, 12, 88, 21
2) 40, 15, 02, 04
3) 10, 96, 12, 86
4) 23, 58, 68, 01

Correct Answer: 10, 12, 88, 21
Candidate Answer: 10, 12, 88, 21

QID: 104 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& T TR Apiadt # T ZH I HGA @l gaw
Tra & uy ampla Bfea &

s s A i e T F g A be st Ve it A rn.';ﬁ_"_y
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Options:
1)

o
A

2)

Correct Answer:

o
o

Candidate Answer:

o
A4

QID : 105 -

Which answer figure will complete the pattern in the
question figure?

Pl H AT IME T PG & UART B q
LI

/.

AN
/
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Options:
1)

A

/

Correct Answer:

/

Candidate Answer:

O

QID : 106 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ay T gUUT @ AB Y@T W T@m S, ar & o
Tal Hpadl A @ Bid W pa vy Aea
T viafeFs gef?
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Options:
1)

—_—

r

2)
«— —>
}
3)

4)
-— —>

Vot

Correct Answer:
—_—> 4

)1

Candidate Answer:

<+ —»
I
QID : 107 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ ouy HpfaAl # fTEm MgER eee @
Hizeh? Bad dAT Gheld @ olg ¢ fbd 3o’ 3Tpia
San fearg deme

Al
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Options:
1)

N

w

£y

B> B

Correct Answer:

>

Candidate Answer:

>

QID : 108 - If 'P' means '+', 'Q' means '+, 'R' means 'x' and 'S' means -, then
42R13P39Q11S6="?
Tfe P 1 3 '+, 'Q BT 3 '+, R BT 31w qut 'S o ' g, 7Y

42R13P39Q11S6="?
Options:

1) 29

2)33

3)19

4) 42

Correct Answer: 19
Candidate Answer: 19

QID:109-If2P3Q1=7and3P4Q2=14,then1P6Q2="2

qE2P3Q1=7aM3P4Q2=14%,T1P6Q2="?
Options:

1) 11

2)6

3)7

4)8

Correct Answer: 8

Candidate Answer: 8
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QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Gear
2. Great
3. Greet

4. Gang
5. Ginger

ol il &1 TGP H oM 91 HH P STUR kg

1. Gear
2. Great
3. Greet
4. Gang
5. Ginger

Options:
1) 45132

2) 41523
3) 45123

4) 41532
Correct Answer: 41523
Candidate Answer: 41523

QID : 111 - In the following question, select the missing number from the given series.
30, 25,21, 18,16, ?
Frafafaa wy & fou T fowedt @ @ i 1d Sifol|

30, 25, 21, 18,16, ?
Options:
1) 14

2)13
3) 12

4) 15
Correct Answer: 15
Candidate Answer: 15

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
X, T,P L H?
TF 3w fean ma 8, ol 9 Ue ug 9w 81 fou T fawedi # 9 a8 wel fawey g, S o &1 Oy e

X, T,P,L,H?
Options:

1)C

2)E

3)D

4)F
Correct Answer: D
Candidate Answer: D

QID : 113 - In the following question, select the odd word from the given alternatives.

Fofafad gy & 3w T e 7 ¥ favd s &1 gful
Options:

1) Dollar

IR

2) Rupees

Raee|

3) Pound
uie

4) Credit Card
wige B

Correct Answer: Credit Card

wige o1
Candidate Answer: Credit Card
Hise TS

QID : 114 - In the following question, select the odd number pair from the given alternatives.

Foferf@ad vy A Ru v el 7 @ ey ]
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Options:
1)22-28
2)15-21
3)23-28
4)34-40
Correct Answer: 23 - 28
Candidate Answer: 23 — 28

QID : 115 - In the following question, select the odd letters from the given alternatives.

Ffafed e § fou T fawedl # 9 faww sieri & gl
Options:

1) LN

2)KI

3)BD

4) EG

Correct Answer: KI

Candidate Answer: KI

QID : 116 - Identify the diagram that best represents the relationship among the given classes.
Minister, Doctor, Advocate
I8 3R A Sl A e T ol & e & Heiy 1 981w s g

W, Rifees, aoia
Options:

00

Correct Answer:

Candidate Answer:

®
e

QID : 117 - In the following question, select the related word from the given alternatives.
Teeth : Mouth : : Fingers : ?

Frafifed uy o fau e fwed & ¥ el W ®1 g

afa: 'ﬁ'Ef : Sl'ﬂﬁl'lﬁ Hir 4
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Options:

1) Hand

Gk

2) Brain

ARTH

3) Organ

kin

4) Five

LG

Correct Answer: Hand
B

Candidate Answer: Hand
BIY

QID : 118 - In the following question, select the related number from the given alternatives.
4128:15::7356:?

fraffed vy & R e R § 3 veiie e ot ghu)

4128:15::7356:?

Options:
1)21

2)17
3) 15

4)9
Correct Answer: 21
Candidate Answer: 21

QID : 119 - In the following question, select the related letters from the given alternatives.
MAGIC : OCIKE : : ROMAN : ?
FrafaRed vy & fou U fgwedl & 9 aia ofert &1 9w

MAGIC : OCIKE : : ROMAN : ?

Options:
1) TQOCP

2) TQODP
3) TPOCQ

4) TQODQ
Correct Answer: TQOCP
Candidate Answer: TQOCP

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.
BANGED
Frafafad foswedl & § 98 1sg 9T S U T8 Xeq F 3feRt &1 RN G- g1 ST o el

BANGED

Options:
1) BAND

2) BAIN
3) DEAN

4) BANG
Correct Answer: BAIN
Candidate Answer: BAIN

QID : 121 - There are 40 cars standing in a row. Red car is at 26th position from one end. What is its position from the other end?
TP Ui & 40 MiSal TS §1 A9 ME U BR W 26 T WM R B TN BR I IYDT RIM 77 82

Options:

1) 15

2) 16

3) 14

4) 17
Correct Answer: 15

Candidate Answer: 14 e e T e T s e e T e ]
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QID : 122 - The sum of present ages of A and B is 63 years. The ratio of their ages 3 years later will be 11 : 12. What is the present age (in years) of A?

A TN B P UM 31T BT I1T 63 TN 31 3 T YT ID! 31 BT U 11 : 12 TR A $T THH 31 (T H) 1 82
Options:
1)30

2) 33
3)36

4) 27
Correct Answer: 30
Candidate Answer: 33

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. Some white are red.
II. Some white are green.

Conclusions:
I. Some green are red.
I1. Some red are green.

e g 7T v H B HuA AR ITb §18 37 Bl W IR B e 127 7T €, el ITH W T el F e 8§ et 81 et Py ug ofik by Feifa
P Ru B I fred, f3u U o & MR R gl €

DY:

1. $& The, 19

II. T e gR &

frrep:

1. $© Y A1 5

I $& I &R ¢l

Options:

1) Only conclusion (I) follows.

Faa sy (1) 9 )

2) Only conclusion (II) follows.

Faq e (11) g 31

3) Both conclusion follow.

Gt g e Ot 3

4) Neither conclusion (I) nor conclusion (II) follows.

7 fspdf (1) 7 81 P (11) w1 8

Correct Answer: Neither conclusion (I) nor conclusion (II) follows.
79 Frse (1) 7 € s (1) T R

Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.

7 1 frs (1) 71 €t e (1n) g B

QID : 124 - In a certain code language, "BERNARD" is written as "FIVREVH". How is "STRIKE" written in that code language?

e AR His W H, "BERNARD" &1 "FIVREVH" f3Ral ST 81 39 $Is HIWT H "STRIKE" P! fby UepR ferar s
Options:
1) WYXVOM

2) VXYMIP
3) PIMVMO

4) WXVMOI
Correct Answer: WXVMOI
Candidate Answer: WXVMOI

QID : 125 - In a certain code language, "FOG" is written as "30" and "LAP" is written as "31". How is "SAP" written in that code language?

% fARIy FIs W9 #, "FOG" T "30" TUT "LAP" &I "31" oRdl ST §1 39 $Is WIS H "SAP" & [ YR feran wmamm?
Options:
1)37

2) 41
3)38

4) 40
Correct Answer: 38
Candidate Answer: 40

QID : 126 - When N is divided by 10 the remainder is 8. What is the remainder when N is divided by 5.

o 2 S

N o -
S N, 10 ¥ fauiord fesar Sirer %, R e e T e e Vo ]
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Options:
1)3

2)2
3)1

4)4
Correct Answer: 3
Candidate Answer: 2

QID : 127 - How many numbers are there from 50 to 150 which are divisible by both 5 and 7?

50 ¥ 150 % i farait Gt § S 5 qur 7 <1 faurey gt 82
Options:

1)2

2)3

3)4

4)5

Correct Answer: 3

Candidate Answer: 2

QID : 128 - What is the unit’s digit of 237 x 432 x 156?

237 x 432 x 156 1 3BT 3ich T 82
Options:

1)2

2)4

3)6

4)8

Correct Answer: 4

Candidate Answer: 6

QID : 129 - For what value of M, 243M is divisible by 4?

M & frg A & forg 243M, 4 3 RAursa &2
Options:

1)2

2) 4

3)6

4)20r6

2776

Correct Answer: 2 or 6
2916

Candidate Answer: 2

QID: 130 -

[fN=+13+ 9 , thenwhat s the value of %?

TR N=-13+9 &, HT%EFI'FI?I'EFEIT%?

Options:
1)1/2

2)2
3)4

4) 1/4
Correct Answer: 1/4
Candidate Answer: 4

QID : 131 - Which fraction is the smallest among 2/3, 3/4, 4/5 and 5/6?

2/3,3/4,4/5 741 5/6 T T S G BIT i 82
Options:

1) 2/3

2) 3/4

3) 4/5

4)5/6

Correct Answer: 2/3

Candidate Answer: 4/5

———— —wre———
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QID: 132 - B and C can do a work in 12 days. C and D can do the same work in 18 days. D and B can do the same work in 24 days. In how many days can B, C
and D together complete the work?

B T C U & Y 12 ol H 1 Hva €1 € a1 D I 1 & 18 et & 1 vl §1 D T B I &1 i 24 3 & @ o §1 B, € @ D fyaese 3t o &) faany
e & @ e

Options:

1) 14

2) 134/11
3) 144/13

4) 12
Correct Answer: 144/13
Candidate Answer: 134/11

QID : 133 - Pipe A can fill a tank in 30 minutes. Pipe B can fill the same tank in 50 minutes. In how much time (in minutes) both pipes together can fill the same
tank?

12U A, Td ¢F B 30 el H 4R TbaT g1 UIZY B, S ¢ & 50 el & HR Tl g1 S 93y U a1y Faax St <& &l fhan 99g (e #) & R 99d €2
Options:

1) 15.25

2) 22.5

3)18.75

4)20

Correct Answer: 18.75

Candidate Answer: 18.75

QID : 134 - What is the length (in meters) of largest rod that can be placed in a room 8 m long, 5 m broad and 6 m high?

8 Wiex @9, 5 iex IS Tu1 6 Wex S FIR § T 91 ITelt Gad sl ©8 B dals (Hiex §) a1 82
Options:

1)5

2) 10

3)5v5

412

Correct Answer: 5V5

Candidate Answer: 10

QID : 135 - After giving a discount of 20% there is a profit of 20%. If 5% discount is given, then what will be the profit percentage?

20% $T FT & F T 20% BT AT Bl 31 TG 5% Bt Fe <t A, 0 a1y &7 uiama e gme
Options:
1) 40.5

2)42.5
3)47.5

4)52.5
Correct Answer: 42.5
Candidate Answer: 42.5

QID : 136 - What is the net discount for two successive discounts of 10% and 40%?

10% TUT 40% P, I HiAD, T B (Had (AC) {e w1 e
Options:

1) 44%

2) 46%

3) 54%

4) 56%

Correct Answer: 46%

Candidate Answer: 46%

QID : 137 - A man mixes milk and water in the ratio of 5 : 3. What is the percentage of milk in the resulting mixture?

TP e g T U BT 5 2 3 F srgurd 7 foramar 81 ufomdt fsior & g &1 wicra om 82
Options:

1) 62.5

2) 37.5

3)67.5

4)72.5

Correct Answer: 62.5
Candidate Answer: 62.5

QID: 138 -Ifa:b=>5: 3, then what is the value of (5a + 3b) + (3a — 2b)?

gfda:b=5:3%, @ (5a + 3b) + (3a — 2b) HT AF T §?

| e aetn L i oS S I e ey Elgl’,—.mv ]
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Options:
1) 34/9
2) 25/3
3) 27/5
4) 34/13
Correct Answer: 34/9
Candidate Answer: 34/13

QID : 139 - Average of 40 results is 20. Average of 60 results is 30. What is the average of all the results?

40 Yo} BT 3G 20 B1 60 TR BT 2fa 30 B 1 T+ afomdl o1 sia @ 87

Options:
1) 32

2) 30
3)26

4) 24
Correct Answer: 26
Candidate Answer: 30

QID : 140 - If the loss percent on an article is 30%, then what is the ratio of the cost price and selling price?

e farelt g TR 30% T g1 & N SUF Y e 7T {3567 Yo BT 0T 1 82
Options:

1) 10:13

2) 13:10

3)7:10

4) 10:7

Correct Answer: 10:7

Candidate Answer: 13:10

QID : 141 - If cost price of an article is 50% of its selling price, then what is the profit percent?

gfe; et a¥g 1 Y HeU TGP fahT Tl BT 50% €, ol rH ufawrd o1 82
Options:
1) 50

2) 100
3) 200

4) 150
Correct Answer: 100
Candidate Answer: 100

QID : 142 - If A's salary is 80% of B's salary, then B’s salary is what percentage of A’s salary?

T A BT Aq B & A BT 80% T, A1 B BT I A F I T fpaT Ul 82
Options:

1) 125

2) 120

3) 110

4) 140

Correct Answer: 125

Candidate Answer: 120

QID : 143 - To qualify an examination of 200 marks, a candidate should obtain 40% marks. If A scores 10% more than the passing marks, then what is the marks
obtained by A?

200 3@ $I T Te § I 89 & O U BT BT 40% 3id U i1 1T A A F 3id IN0T 3T F 10% 1 §, 1 A F §RT UT i e 82
Options:

1) 80

2)78

3) 88

4) 68

Correct Answer: 88

Candidate Answer: 88

QID : 144 - A train is travelling at the speed of 90 km/hr. How many seconds will it take to cover a distance of 2 km?

& Yamrel 90 T 1t eder ot i & 7@ & 81 39 2 f. 1. 31 g ft 7 B | v Jvs @i
Options:

1) 70

2) 80

3) 60

4)90

Correct Answer: 80

I o A e T & f’:&;a;n&!:’.‘l\h‘wﬁi;-_fn!fnmv ]
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Candidate Answer: 60

QID : 145 - A train of length 200 m is running at the speed of 60 km/hr. What is the time (in seconds) taken by the train to pass a man standing at the station?

U@ Yame! et avars 200 1. 8, 60 3.0 /ger o 7fd ¥ 9w 6 81 I R WS U e $I UR R J Y| Bl fba I9g (Jvst ) Tme
Options:

1) 12

2) 10

3)11

4)15

Correct Answer: 12

Candidate Answer: 10

QID : 146 - What sum (in Rs) will amount to Rs 6900 in 5 years at simple interest at the rate of 3%?

598 H 3% & <71 & ¥ et IR (3 H) TYR SIS TR 6900 3 B SEfi?
Options:

1) 5250

2) 6800

3) 6000

4) 6300

Correct Answer: 6000
Candidate Answer: 5250

QID: 147 -

The table given below shows the marks obtained by
6 students in 3 subjects.

@ & T after & 3 fRwdt F 6 oE e
UTE 3Rl @ ST I §

student/ | Marks (out of 100) / 3i& (100 3 @)
=T English/ Hindi/ | Mathematics/
FHaA fEar e
A 85 65 93
B 90 76 09
C 92 78 100
D 67 89 96
E 89 92 95
F 81 93 08

Who has obtained the highest total marks in the given three subjects?

fou g & fiwdi & S=raw o 3w e T by ¥
Options:

1E

2)D

3)C

4)F

Correct Answer: E

Candidate Answer: F

| e aetn L i oS S I e ey Elgl’,—.mv ]
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QID: 148 -

The table given below shows the marks obtained by
6 students in 3 subjects.

g & after & 3 Rudt & 6 oE e
UTE 3Rl @ S arm §

Student/ Marks (out of 100) / 3i& (100 3 @)
=T English/ Hindif | Mathematics/
3 R T
A 85 65 93
B 90 76 99
C 92 78 100
D 67 89 96
E 89 a2 95
F 81 a3 98

In which subject the total marks obtained by the given six students are highest?
fau U BE oE ERI ford fawg ® i $a ofd Swan 82

Options:

1) English

SRt

2) Mathematics

3) Hindi

fedl

4) Cannot be determined
a1 faan < gepar

Correct Answer: Mathematics

Candidate Answer: Mathematics

QID: 149 -

The table given below shows the marks obtained by
6 students in 3 subjects.

@ & 1 after # 3 Rudi # 6 oE e
UTH 3Rl @ ST o §

Student/ | Marks (out of 100) / 376 (100 3 A)
- English/ | Hindi/ | Mathematics/
Eipe) f&ar o
A 85 65 93
B 90 76 99
C 92 78 100
D 67 89 96
E 89 92 95
F 81 93 98

What are the average marks per students in Mathematics?

T B ufa BT ira Sid fham 822
Options:

1) 93.33

2) 96.83

3)95.33

4)94.33

Correct Answer: 96.83

Candidate Answer: 93.33

I o A e T & ﬁ-f‘h;gzﬁf:‘!tn\wmiﬁlg\',..my
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QID : 150 -

The table given below shows the marks obtained by
6 students in 3 subjects.

g & after & 3 Rudt & 6 oE e
UTE 3Rl @ S arm §

Student/ Marks (out of 100) / 3i& (100 3 @)
=T English/ Hindif | Mathematics/
3 R T
A 85 65 93
B 90 76 99
C 92 78 100
D 67 89 96
E 89 a2 95
F 81 a3 98

What are the average marks per subject scored by D?

D GRT U ufdl favrr o siep foba 82
Options:
1) 82.5

2)87.5
3)84

4) 88
Correct Answer: 84
Candidate Answer: 82.5

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

This is because traditionally (1)/ China’s politics have been defined by the (2)/ need for economic development above all else. (3)/ No error (4)
Options:
1)1

2)2
3)3

4)4
Correct Answer: 2
Candidate Answer: 1

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

We need to understand access control systems and (1)/ methodology, telecommunication and network (2)/ security, and security managing practice. (3)/ No error
(4

Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

He has been here since 1997.

Options:
1) living

2) live
3) lived
4) lives

Correct Answer: living
e e R e e T e T 2 v T ]
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QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

is a good habit.

Options:
1) Read

2) Reading
3) Reads

4) To reading
Correct Answer: Reading
Candidate Answer: Read

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Bashful

Options:
1) Confident

2) Bold
3) Defiant

4) Shy
Correct Answer: Shy
Candidate Answer: [ NOT ANSWERED ]

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Bogus

Options:
1) Genuine

2) Real
3) Fake

4) Authentic
Correct Answer: Fake
Candidate Answer: [ NOT ANSWERED ]

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Ebb

Options:
1) Flow

2) Rise
3) Sink

4) Incline
Correct Answer: Sink
Candidate Answer: [ NOT ANSWERED ]

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Learned

Options:
1) Brainy

2) Cultured
3) Instinctive

4) Well informed
Correct Answer: Instinctive
Candidate Answer: Brainy

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Excitable

I o A e T & f’:&;a;n&!:’.‘l\h‘wﬁi;-_fn!fnmv ]
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Options:
1) Placid
2) Edgy

3) Fierce
4) Moody

Correct Answer: Placid
Candidate Answer: Fierce

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Laid-back

Options:

1) Ambitious

2) Relaxed

3) Remote

4) Casual
Correct Answer: Ambitious
Candidate Answer: Relaxed

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Be a dead meat

Options:
1) To be in serious trouble

2) Friendly
3) Speaks rudely

4) Very attentive
Correct Answer: To be in serious trouble
Candidate Answer: Friendly

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Like two peas in a pod

Options:
1) Similar

2) Briefly
3) Contrasting

4) Operational
Correct Answer: Similar
Candidate Answer: Similar

QID : 163 - Improve the bracketed part of the sentence.

They have a distinct focus on (beautifying leadership) through Innovation, and Social Responsibility.

Options:
1) decorating leadership

2) grooming leadership
3) illuminating leadership

4) No improvement
Correct Answer: grooming leadership
Candidate Answer: grooming leadership

QID : 164 - Improve the bracketed part of the sentence.

Its strength across diverse management disciplines, backed by (@) excellent team of faculty.

Options:
1) an

2) any
3) many

4) No improvement
Correct Answer: an
Candidate Anewer: [ NOT ANSWHR f’:&;a;n&!:’.‘l\h‘wﬁi;-_fn!fnmv 1
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QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A stanza having two lines in verse.
Options:
1) Triplet

2) Couplet
3) Ode

4) Balled
Correct Answer: Couplet
Candidate Answer: Couplet

QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Fret from infection.

Options:
1) Triune

2) Opportune
3) Tribune

4) Immune
Correct Answer: Immune
Candidate Answer: Tribune

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Wrinkle

2) Rinkle
3) Wrenkal

4) Wrinkal
Correct Answer: Wrinkle
Candidate Answer: Wrinkal

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Consequnt

2) Consequent
3) Consecuent

4) Consiquent
Correct Answer: Consequent
Candidate Answer: Consequent

QID : 169 - Rearrange the parts of the sentence in correct order.

People should save

P: child as they have

Q: power to create a whole world
R: and respect girl

Options:
1) PQR

2) RPQ
3) QRP

4) PRQ
Correct Answer: RPQ
Candidate Answer: [ NOT ANSWERED ]

QID : 170 - Rearrange the parts of the sentence in correct order.

Rainwater harvesting

P: reservoirs or man-made tanks
Q: means collecting the rain

R: water into the natural
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Options:
1) PQR

2) RPQ
3) QRP

4) PRQ
Correct Answer: QRP
Candidate Answer: [ NOT ANSWERED ]

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Drought, a condition when regions are faced with scarcity of water to low or no rainfall, has been the cause of problems in India. There are
many areas in the country that are hit by drought each year while others are faced with this condition . Drought is caused due to various factors such as
deforestation, global warming and inadequate surface water and has severe on the lives of the people living in the affected areas as well as the general
health of the environment.

when regions are faced
Options:
1) certain

2) curtain
3) major

4) Minor
Correct Answer: certain
Candidate Answer: major

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Drought, a condition when regions are faced with scarcity of water to low or no rainfall, has been the cause of problems in India. There are
many areas in the country that are hit by drought each year while others are faced with this condition . Drought is caused due to various factors such as
deforestation, global warming and inadequate surface water and has severe on the lives of the people living in the affected areas as well as the general
health of the environment.

water to low

Options:
1) because

2) due
3) In addition

4) result
Correct Answer: due
Candidate Answer: because

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Drought, a condition when regions are faced with scarcity of water to low or no rainfall, has been the cause of problems in India. There are
many areas in the country that are hit by drought each year while others are faced with this condition . Drought is caused due to various factors such as
deforestation, global warming and inadequate surface water and has severe on the lives of the people living in the affected areas as well as the general
health of the environment.

the cause of problems
Options:
1) mere

2) some
3) several

4) rare
Correct Answer: several
Candidate Answer: some
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QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Drought, a condition when regions are faced with scarcity of water to low or no rainfall, has been the cause of problems in India. There are
many areas in the country that are hit by drought each year while others are faced with this condition . Drought is caused due to various factors such as
deforestation, global warming and inadequate surface water and has severe on the lives of the people living in the affected areas as well as the general

health of the environment.

faced with this condition
Options:

1) frequently

2) oftenly

3) mostly

4) occasionally

Correct Answer: occasionally
Candidate Answer: occasionally

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Drought, a condition when regions are faced with scarcity of water to low or no rainfall, has been the cause of problems in India. There are
many areas in the country that are hit by drought each year while others are faced with this condition . Drought is caused due to various factors such as
deforestation, global warming and inadequate surface water and has severe on the lives of the people living in the affected areas as well as the general

health of the environment.

has severe on the lives
Options:
1) aspect

2) respect
3) retrospect

4) impact
Correct Answer: impact
Candidate Answer: [ NOT ANSWERED ]

QID : 176 - In which Indian state the archaeological site of the Paleolithic period, the "Bhimbetka Rock Shelters" is situated?

RIUISTOT T & RIdMad d "Hirses e e {6y uRd Iea & R 32
Options:

1) Chhattisgarh

UGG

2) Andhra Pradesh
SATR] T

3) Madhya Pradesh
e USd

4) Himachal Pradesh

Correct Answer: Madhya Pradesh
e Uy

Candidate Answer: Himachal Pradesh

QID : 177 - Who of the following drafted the 'Pakistan Resolution'?

T TR &1 SOl 78 J frae daR @t o
Options:

1) Fazlul Haque

WSIefa g

2) Muhammad Ali Jinnah

Hewg (il for
3) Sikander Hayat Khan

R~ gaa @H
4) Rahmat Ali

REEGEC K]

Correct Answer: Fazlul Haque

o[ g

Candidate Answer: Muhammad Ali Jinnah

TgrTg 3felt forar
QID : 178 - How has India been described in the Constitution of India?

YRA P TiGyH § URa & fpw wu # afofa fear man 22
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Options:
1) A Federation

2) A Quasi Federal

sref-ufeia (SRR Heva)

3) Unitary

UhTHD

4) Union of States

Tl 61 Y

Correct Answer: Union of States
AT b1 Hh

Candidate Answer: Unitary
ThHIHD

QID : 179 - How many types of writ have been mentioned in the Indian Constitution?

YRATT T3y # fam ToR & Re &1 IwRg oo mar g2
Options:
1)2

2)3
3)4

4)5
Correct Answer: 5
Candidate Answer: 4

QID : 180 - What is NABARD?

AETE 82
Options:
1) Comnjercial Bank

2) Financial Institution
IR
3) Specialised bank to help agriculture
PN Tere faRkw 35
4) Non-Banking financial Institution
Correct Answer: Specialised bank to help agriculture
P werw Ak §&
Candidate Answer: Commercial Bank

QID : 181 - What is the full form of CSO?

Howsh o7 quf fRaR o 82
Options:

1) Custom Security Organization
HEH

2) Core Security Organization

3)UC0§mos Space Organization

4) Central Statistical Organisation

Correct Answer: Central Statistical Organisation

C_andidate Answer: Central Statistical Organisation

~

QID : 182 - Area-wise where does India rank among the countries of the world?

& 31 2§ URA BT 3y & 2= BH-I1 WH 82
Options:

1) Fifth

qrgdr

2) Sixth

ol

3) Seventh

raar

4) Eighth

{134l

Correct Answer: Seventh
RIIGEL

Candidate Answer: Seventh
RIIGEL

———— —wre———
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QID : 183 - What is Kuiper belt?

PR Fe 22
Options:
1) Planetary bodies that orbit around Jupiter
foug & St Al §
2) A type of Galaxy
TF UHR ST SATHIRENT §
3) Icy planetary bodies that orbit around Neptune
Sofar faus B St 9501 &Y uReH AT BT §
4) A type of constellation
TH TSR HT RIS 3
Correct Answer: Icy planetary bodies that orbit around Neptune
YuST S B0 B URHHT BT &
Candidate Answer: A type of constellation
& THR BT dRMATSA §

QID : 184 - Which among the following is NOT a micronutrient for plants?

Fofifad ¥ 4 S tdl & Y I e e ad 7181 82
Options:
1) Boron

2) Copper

PR

3) Iron

S{IRA

4) Nitrogen

Correct Answer: Nitrogen
andidate Answer: Copper
PR

QID : 185 - What is the main function of ribosomes in the cell?

DI H AR BT G $I a1 82
Options:

1) Fatty acid synthesis

et uftre T=awor

2) Protein synthesis
3) Carbohydrate synthesis
BlelEIESC YL

4) None of the option_is correct.
P +ff fiped I TR R
Correqt Answer: Protein synthesis

I ey

Candidate Answer: Carbohydrate synthesis

QID : 186 - The edible part of an onion is

et S e KT 1 1
Options:
1) Moadified root
FUiaRd oe
2) Aerial flower
I qu
3) Aerial stem
GEII
4) Fleshy leaves

Correct Answer: Fleshy leaves
TRR T
Candidate Answer: Fleshy leaves

TEER T
QID : 187 - Not servicing the vehicles results incomplete combustion of carbonaceous matter in automobile engine which generates:

et & B T B P URUTRGRTY HTeHIaTsd 351 § Sraie yerdf &7 Ui gg- il 8, S 37 Il & [
Options:
1) Carbon monoxide

2) Carbon Qioxide

SESHTES
3) Nitrous oxide

AZCY SHRRS
4) Nitrogen digxide
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Correct Answer: Carbon monoxide

Candidate Answer: Carbon monoxide

QID : 188 - The fibre least prone to catch fire is

o SaATa X (PReR) eare |
Options:

1) Nylon

BRI

2) polyester

3) cotton

DU ()
4) terylene
R

Correct Answer: cotton
DU ()

Candidate Answer: Nylon
A

QID : 189 - What is used to be checked the development of infant in the uterus?

mfRr B RIg F e ot STHeRt /g faet win faar s 32
Options:

1) X-rays

T fHo

2) Gamma rays

T febof

3) Ultra sound

3{egl 9IS

4) Ultraviolet rays

3feer digee ¥e

Correct Answer: Ultra sound
3legl W3S

Candidate Answer: X-rays
T ool

QID : 190 - Which one of the following has the highest value of specific heat?

Fofafad # 4 fead Ay S &1 A Fdf= gidr 82
Options:

1) Glass

P

22 Copper
dist
3) Lead

2

4) Water

4

Correct Answer: Water

4

andidate Answer: Glass
DI

QID : 191 - The key results of United Nations Framework Convention on Climate Change (UNFCCC) meeting held recently is to restrict global warming by keeping
temperature rise .

e oA &) FERT HRA & Heiy H g1 &) 7 Smiifoa gEd WY Sidarg uikady IWad (UNFCCO) R ammH A gfg @t & iR v ot fofa femn
Options:

1) Below 4°C by 2100 AD

af 2100 9% 4°C ¥ A

2) Below 2°C by 2100 AD

a9 2100 9% 2°C ¥ A

3) Below 3°C by 2100 AD

a9 2100 9% 3°C ¥ A

4) Below 1°C by 2100 AD

a9 2100 % 1°C ¥ A

Correct Answer: Below 2°C by 2100 AD
¢ 2100 9% 2°C § =

Candidate Answer: [ NOT ANSWERED ]

QID : 192 - Operating system is also called the between the user and computer.

TR Ried B ToR 3R FUR & &7 o} &g o1 B

- e —————— - rv——
| Pt e =5 e l‘m&ﬁmmvﬁa.,tsﬁmv ]



11/20/2017 Staff Selection Commision

Options:
1) Bridge
[EE

2) Interface

3) Communication

4) Topology

BRI

Correct Answer: Interface

Candidate Answer: Communication

QID : 193 - In which state of India is Pushkar Mela held?

TSR HAN YR F o e & i giar 82
Options:

1) Uttar Pradesh

IR U™

2) Jharkhand

PRYUS

3) Madhya Pradesh

e U

4) Rajasthan

RIS

Correct Answer: Rajasthan
RIS

Candidate Answer: Jharkhand
ARGUS

QID : 194 - Who of the following invented the jet engine?

S SO B @iel 390 I T 31 iz
Options:

1) Frank Whittle

e e

2) Nikolaus Otto
IREANE

3) Samuel Brown
Jgard FI3A

4) Carl Benz
BI &t

(.Torrect Answer: Frank Whittle

Candidate Answer: Frank Whittle
e fgea

QID : 195 - Which country recently launched Tiantong-1 satellites for mobile communication?

B & ° 5w 31 3 AR teAeRE % o faamii-1 Swre vafia fear 82
Options:

1) China

4=

2) South Korea
Sl& HIRET

3) Japan
S

4) North Korea
JR B

Correct Answer: China

Candidate Answer: China

QID : 196 - Who has authored the book, titled 'Wealth of Nations'?

Options:
1) David Ricardo
39S Repret

2) Adam Smith
wen Ry

3) John Keynes
i B

4) Thomas Malthus
U1y HI™

Correct Answer: Adam Smith
weH [y
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Candidate Answer: John Keynes
S B

QID : 197 - In which county will be the 2018 Asian Games held?

T 2018 T URMATS Qd fHw ez F g fovar swm?
Options:

1) China

ElG|

2) Malaysia
AR

3) Japan
ILIE
4) Indonesia

Correct Answer: Indonesia

Candidate Answer: Malaysia

QID : 198 - How January 9 is celebrated every year by the Government of India?

YRA TRBR gRT 9 SR TP aY {9 =0 & 741 S 82
Options:
1) National Youth Day

it g feaw
2) Army Day
J1 feat

3) National Voters Day
RIS R RCAGINCER]
4) Pravasi Bharatiya Divas

Tarl URdE feag

Correct Answer: Pravasi Bharatiya Divas

Candidate Answer: Army Day

QID : 199 - Who among the following was conferred with the 47th Dadasaheb Phalke Award at the 63rd National Awards?

634 TP flher PR FARIE § AAfifed & 3 B3 473 IENR Bl REPR I T a7 /1 91
Options:
1) Gulzar

2) Manoj Kumar

3) Shashi Kapoor
RUEY

4) Soumitra Chatterjee
it geoff

Correct Answer: Manoj Kumar
TS FUR
Candidate Answer: Manoj Kumar

BRI PHR
QID : 200 - Which of the following is world's first country to have cashless economy?

Faffaa & fay o1 vy TdRfd srferaw aw o= $19 32
Options:

1) Canada

EEIK)

2) Sweden

3) France
g

4) Belgium
EIgvpe)

Correct Answer: Sweden

Candidate Answer: Sweden

———— —wre———
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